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The first governor of West Virginia, Arthur I. Boreman, was re-elected

to office on October 25, 1866.

CS0:SS.8.2,S5.8.22, ELA8.1
Investigate the Document: (Arl769, Secretary of State's Office. Election return records, 1861-1866)
1. Who did YOUR county vote for in the 1866 gubernatorial election? If your county did not exist,
choose a county from which yours was formed. (e.g. Mingo County was formed from parts of Logan
County.)
2. What was the final tally of the 1866 gubernatorial election?
o Arthur I. Boreman
o Benjamin H. Smith

Think Critically: According to the 1866 Election results, Benjamin H. Smith defeated Arthur Boreman in 8
different counties. What do a vast majority of the counties that voted for Smith have in common? Did you
find it surprising that Boreman was defeated in Ohio County, where he was influential in the statehood
movement?
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